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[1:{ivA sh&E4a OUT IN GROSS HDCP NET 25 [1:{ivA Sh&4a OUT IN GROSS HDCP NET "E

B85 tEy =13 41 46 87 16.8 70.2 26 T 5 50 45 95 19.2 75.8

2 S 1Z 39 36 75 3.6 71.4 27 AR 1B 49 45 94 18.0 76.0

3 UM BELE 44 42 86 14.4 71.6 28 =K IER 54 52 106 30.0 76.0

4 Al 46 44 90 18.0 72.0 29 =Uf EF 45 48 93 16.8 76.2

5 {8 M- 40 50 90 18.0 72.0 30 FH E&E 48 45 93 16.8 76.2

6 KF W& 51 54 105 32.4 72.6 31 T AKX 52 51 103 26.4 76.6

7 AR HA 52 53 105 32.4 72.6 32 BIF BT 52 50 102 25.2 76.8

8 #HAK{C 32 36 68 +4.8 72.8 33 miIH BE 51 51 102 25.2 76.8

9 AT 1EE 52 51 103 30.0 73.0 34 {ff8 JFSE 51 50 101 24.0 77.0

10 5kH 5h 52 49 101 27.6 73.4 35 #xH &= 53 42 95 18.0 77.0

11 [l #RE 47 48 95 21.6 73.4 36 R 5— 46 49 95 18.0 77.0

12 {C8F &2 53 51 104 30.0 74.0 37 —F &KX 55 46 101 24.0 77.0

13 FFF B 39 46 85 10.8 74.2 38 K &% 43 51 94 16.8 77.2

14 & = 53 50 103 28.8 74.2 39 KT % 49 51 100 22.8 77.2

15 2R T8 50 46 9 21.6 74.4 40 NNk & 53 59 112 34.8 77.2

16 7o A3 45 45 90 15.6 74.4 41 Si5 A 53 52 105 27.6 77.4

17 {E2 K BN 46 49 95 20.4 74.6 42 1EH B 47 46 93 15.6 77.4

18 JEx AiE 52 49 101 26.4 74.6 43 HH =2 49 48 97 19.2 77.8

19 K 1IEE 48 52 100 25.2 74.8 44 A% 1t 49 48 97 19.2 77.8

20 f&ERE ST 54 45 99 24.0 75.0 45 HEART PE 44 53 97 19.2 77.8

21 1ffE 183 50 48 98 22.8 75.2 46 =N S 48 47 95 16.8 78.2

22 AR Sl 50 48 98 22.8 75.2 47 KN =& 55 58 113 34.8 78.2

23 BA RBE 43 49 92 16.8 75.2 48 Eiff =X 50 49 99 20.4 78.6

24 {18 52 44 96 20.4 75.6 49 1BE K& 47 51 98 19.2 78.8

25 5k & 48 54 102 26.4 75.6 50 4t &R 53 50 103 24.0 79.0
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51 Al /2 50 58 108 28.8 79.2 76 IR A 54 63 117 33.6 83.4

52 bkEE REB 48 53 101 21.6 79.4 77 HE A0 60 54 114 30.0 84.0

53 #H —% 58 55 113 33.6 79.4 78 1| E 5 59 58 117 32.4 84.6

54 &K #2—HpB 54 56 110 30.0 80.0 79 125 Bth 62 55 117 32.4 84.6

55 H. Lt i 59 51 110 30.0 80.0 80 fEH F—EB 55 55 110 25.2 84.8

56 JFEA 12X 56 53 109 28.8 80.2 81 Il E% 53 59 112 26.4 85.6

57 BR #¥x 54 61 115 34.8 80.2 82 /& =T 65 57 122 36.0 86.0

58 {£fA FF 50 52 102 21.6 80.4 83 155 J¥&E& 59 64 123 36.0 87.0

59 /NR =44 49 53 102 21.6 80.4 84 /K {H| 62 62 124 36.0 88.0

60 Hj= R 59 55 114 33.6 80.4 85 &t A 71 53 124 36.0 88.0

61 B2 (@48 54 47 101 20.4 80.6 86 #LL AIK 54 62 116 27.6 88.4

62 HP == 51 53 104 22.8 81.2 87 [H M 66 59 125 36.0 89.0

63 =4F X 60 54 114 32.4 81.6 88 =& WEKER 59 68 127 36.0 91.0

64 X3k fES 48 46 94 12.0 82.0 89 =15 &=l 68 60 128 36.0 92.0

65 TR Ml 60 58 118 36.0 82.0 90 Tk &) 68 61 129 36.0 93.0

66 KE7 fEA 57 61 118 36.0 82.0 91 Jt¥¥ IB5 69 63 132 36.0 96.0

67 XH ij 61 56 117 34.8 82.2 92 ZEB A 63 70 133 36.0 97.0

68 A =i 41 51 92 9.6 82.4 93 h & 6 69 68 137 36.0 101.0

69 {FiE K 61 54 115 32.4 82.6 94 SK X 72 68 140 36.0 104.0

70 K= [Z 47 55 102 19.2 82.8 95 R = 73 68 141 36.0 105.0

71 58 KiE 53 66 119 36.0 83.0 96 T #13 76 66 142 36.0 106.0

72 NH & 57 56 113 30.0 83.0 97 KT E# 72 72 144 36.0 108.0

73 HllF REE 60 59 119 36.0 83.0 98 =te BK 86 69 155 36.0 119.0

74 nH £ 57 55 112 28.8 83.2 99 T [RZZK 83 72 155 36.0 119.0

75 B A 53 46 99 15.6 83.4




